{2 YEAR 7 MATHEMATICS — TERM 3
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Question 1: Work out the answers to each of the following Question 1: Work out the answers to the following additions
(a) 2-3 (b) 3-5 (c) 4-9 (d) 1-5 (a)4.5+23 (b) 84+1.7 (c) 0.7 +0.5 (d) 2.8+10.3
(e) 5-7 (f) 6-7 (g) 8-11 (h) 2-10 (e) 13.4 + 28.9 (f) 206.2 +72.8 (g) 6.4+159 (h) 0.5+0.8+0.1

(i) -2+4 () -3+9 (k) -7 +10 1) -6+1 (i) 9.7+1.4+13 (j) 16.8+3.9+102.2+87.4

(m) -5+8 (n) -9+7 (0) -20+11 (p) -12+18 Question 2: Work out the answers to the following subtractions

(q) -3-2 (r) -4-1 (s) -6-3 ®-1-5 (@) 7.7-15 (b) 85-4.1 (c) 19.7-186  (d) 26.2-5.2

(W) -7-3 (v) -8-5 w) -9-12 (x) -15-13
(e) 545-231 (f) 80.4-103  (g) 16.6-9.2 (h) 85.7 - 50.4

Question 2: Work out the answers to each of the following

(i 73-4 (j) 8.6-2 (k) 249-6 () 15.1-9
(a) 3+5-4 (b)2+1-6 (c) 5-8-1 (d) 7-10+1

(m) 7-1.3 (n) 9-3.6 (o) 20-4.4 (p) 32-8.7
(e) 8+3-15 (f)5-6-4 (g) 1-7-4 (h) -3+6+1

(i) -8+2+3 () -10+4-6 (k) -9-3-1 ) -2-7+4
( Apply )
(m)-20+11-6 (n) -5+14-8 (o) -13-4+6 (p) -30-80+40

Question 1:  Paul buys a book that costs £6.89 and pays with a £10 note.
C Apply ) How much change should Paul get?

At 9am, the temperature was 5°C She uses 0.75kg of the flour to bake a cake.

Question 1: At midnight, the temperature in Belfast was -2°C Question 2:  Jennifer has 1.2kg of flour. g}
How much flour does she have left?

By how many degrees did the temperature rise?

Question 2:  Mr Jones has —£50 in his bank account.
If he pay £70 into the bank, how much will he now have in his account?
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Try filling out the multiplication grid, then make some of your own using the numbers 1 to 12
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